VIS B$E] 4 w4 *5
—. EAEE (EM 34, F2up
L. FHREBITAS, —BI KRS ( )

A y=(x+1)'=x?  B. y=vx'-1 C. S=-3'+1+2 D. y=ax +bx+c

2. ER—AIFREBHE y=22, y= - 22, y=%x2 HER, TIMAFSEAR ()

A, BRXT x S0F, MWLFOmE L B. #MAXT y Hittik, MMAFOAT
C. MEXTRAMH, MYENTSAHREA D. BRXT y MnK, TABREA
3WMR y=322 A TH | ABLr, BHETES 280, FEIGHMERE ()

A, y=3 G-1)2-2 B.y=3(x+1)2-2 C.y=3 (1) %2 D. y=3 (x-1) 242
4. ZWRE¥y=x? - 4x+5 BIB/MER ¢ )

A. -1 B. 1 C.3 D. 5

5., BEARM y=a’+b5 y=arb, (ab<0) MESTTEE

S A

6. EZREH y=2> - 2tk ARZER (-1, 1) Gy 20 Wi 5y BKIXERC )
A. 1>y B. yi=n2 C. i<y D. RfeHE

1. BHEE y=x - 2x- 2 MBS, BREXPREOEL, TREBME =1 R o HEEEE
2C )

A. -1<x<3 B. -3<s<1l C. x=-3 D. x<-1H x=>3

8. “REHM y=a (x+k) 2k (a#0), T kB{E, HERMTESHE )

A. BE&y=x Lt B. Eky=-xt C. E&y=2xLt D. Effy=-xFL

T BB (BT 44, F24)

9. “IREH y= - x+5 HERK TS LIRR
10. MWL y=2 (x-1) 2-3 P HHR

1L XF xB—R K EEmx’ -4x-1= Oﬁﬁﬁ‘ﬂ”tﬁ%ﬂ‘liﬁ’lﬁ» W om MEBEER
2.

12. ERES y =x> —6x+k HR/MER2, Nk=

13 WL y=2x2 - bx+3 BIXIHRER EL x=1, N b RIEN

14, EZREB y=(-m)? - 1. B x<I B}, y B x BB KTORR/N, U m BOE{E TSR
= BEB

1S THIER (B854, £204)

3(x-1)2-12=0 X+4x - 6=0 (x+2) 2-8 (x+2) +15=0 32+1=2x.



16 (4+4). BHXTF xW—TZKRHFR £ - 2x- 34=0.
(1) RiE: HEREEFHATESHTHR,
m)fﬁﬁ%ﬁ¢¥ﬁmﬁﬁﬁu.B.ﬂumﬁ#&ﬁm%ﬁ.

UAARFETIRMEOMIE y=ac* - 19RER.  (343)

q>sy=%ﬁnmﬁux¢ﬁ@,ﬁmm&; () BitH (3,2) .

17. (4+4) BMZRKES y=a (x- h) 2k MERERETE 3 A BE, BALFS 44240,
ﬁﬂ%%ﬁy=%(ﬁnzﬂ.

(1) RHE a. h. k BHH; (2) HI<x<SH, REKy HRERE.

18. (5+5) WA, ETFHEAYIRAT, MHEE xWEZTHRA. B(RAZERBREMD, Ky
AT A C (0, 4), TAAN (1, 5).

(1) REMPLOERHKFR: ) AP RMWEINTHM | LO— 3, 4 PA+PC pi
AN, SR P RIALAT.




